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IMPORTANT INSTRUCTIONS

1.  This Question Paper Booklet contains two Question Papers - one based on revised study material
marked as NEW SYLLABUS and the other based on pre-revised study material marked as
OLD SYLLABUS.

2. NEW SYLLABUS is for those candidates who have registered for 2023-2024 (stream-I, Block-I)

admission and are appearing in October-2024 Examinations.

3. OLD SYLLABUS is for those candidates who has registered before 2023-24 (Stream-I, Block-I)

admission.
4. Candidates are to answer only one Question Paper from the given two Question Papers.
5. Candidates are not allowed to mix questions from the given two Question Papers.
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NEW SYLLABUS /ST UiIshH

BUSINESS STUDIES
HreEaeh AT
(319)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 9 ] [ gutiek : 100

Note :

(1)
i)
i)

)

o~~~

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and write the
most appropriate option out of the four options given in each of these questions.
(v)  Section - B consists of
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 carry 2 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.
(vi) Section - C consists of
(@) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 48 to 51 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
‘F-I%E'ST :
(i) =9 IA-TF H P 51 T L
(i) |t Te Srfremd ¥ |
(iii) I U F A 3GH 3k feu T )
(iv) @US -k H MEa €
9 @A 1§ 20 Tk Igiashedid YhR 6 U9 § Sl Y 1 37 &1 T1 37 U9 H Y& § fou T =R
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Note / gt .
(1) Answers of all questions are to be given in the Answer-Book given to you.
[T YA o I ATl & T S-gRaent § & fore |
(2) 15 minutes time has been alloted to read this question paper. The question paper will be

distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.
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SECTION - A/@Us - <h

1.  Identify the correct sequence of steps involved in the planning process : 1

(A) Selection of course of action, Identifying alternative courses of action, Establishment of
objectives, Making assumptions.

(B) Establishment of objectives, Identifying alternative courses of action, Selection of course
of action, Making assumptions.

(C) Establishment of objectives, Making assumptions, Identifying alternative courses of
action, Selection of course of action.

(D) Making assumptions, Establishment of objectives, Identifying alternative courses of
action, Selection of course of action.

ST Yfshan § Aitafad =)ol o eI STIhH i J8a hifaT :

(A) UK FHEYUTCAT I AT, dehfcdeh HATUTC i gg=H, 35ed Fuf, qagam fefo
(B) v R, Sehfeus wEyIfcrl i Ug=M, I9gad SHEque 1 g1d, Jarga e
(C) 3R fuRw, qatqum fafo, Jekfeas swriyonferel ot 9g=™, U SHIYue 1 e
(D) gargaA o, 3eea faRv, Swfcas srvfedl s 98, 3fed Sryvel &1 gAE

2.  Infosys decides to open schools for lesser privileged children is an example of 1
environment.
(A) Economic (B) Political (C) Legal (D) Social
SRINEH = ¥ foRITITehR T o=l < ferq foramer @ier 1 o feren ) 2@ EIRICIu
1 ST B |
(A) oTffER (B) TrSHfaeh (C) fafyes (D) TSI
3.  The capital structure of an organization refers to the choice of the combination of : 1
(A) Dividend and wealth (B) Debt and equity
(C) Fixed assets and current assets (D) Fixed capital and working capital
Teh G T Uit gl &% WA % 9o 1 Hehia w T
(A) <re v Hafd (B) RUT Qe T

(C) Tt TefaET den =re] FeafEr (D) Tl Tetar qen s qoi
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4. ‘Twinkle Stars’ is a well-known resort for organizing parties, especially for children. However, 1
in past six months its popularity has reduced considerably as a new resort with better ambience
and facilities has opened within its vicinity. Name the related feature of business environment
which has influenced the business of “Twinkle Stars” adversely.

(A) Totality of external forces (B) Dynamic nature

(C) Interrelatedness (D) Uncertainty

' =feiohet T’ oot Sl 6t Wi 1 TR H3 & fau Tk S vea a1 g fisw
B: U H THH! ARTIAr H HIH HHT 3TE 7, Fifh TS H & 3T AR qen oT=st gasnedi & iy
T 71 fEie o T ¥ | 39 HaEiias AR &AM St e 2fasa T’ % Sa|e #
faodia <0 & wwifaa fovan B

(A) el WifsRell bl HETI (B) il gepfa
(C) UREh e (D) A=
5.  Creating a website and selling online is related to : 1
(A) Political Environment (B) Technological Environment
(C) Social Environment (D) Economic Environment
T AeTHIEE ST A ST o= ¥ Haiftd T
(A) TSHIdSH FTrERo (B) Tehiehl ATATERYT
(C) wrHIfSI STdTerol (D) STfefeR aTareR
6.  Current assets are those assets that get converted into cash : 1
(A) Within six months (B) Within one year

(C) Between one and three years (D) Between three and five years

=1e] weafaar o et St € S Jehe H ufafdd 2t ©

(A) B HEHI & TR (B) T ¥ o A
(C) THH A ad & T (D) o9 9= 99 % 3T
7.  Digi Locker is the country’s first secured cloud-based platform for the storage, issuance and 1

verification of documents with the Driving License and Vehicle Registration System of the
Road Transport Ministry. Identify the related dimension of business environment.

(A) Economic dimension (B) Technological dimension

(€) Social dimension (D) Political dimension

SISl TR < T FUH RFRTd Feliss Menia wiewid § St 9o UReed I & gEfaT ardy
T ATeT Usiichd YoMl o @ Jerol, Frfaa qen Tomgs & fou § 1 Haanfas ammetor & deifid
AT i TE=H Hifer |

(A) 3Tk S (B) URNfTRIT STE™
(C) ISR ST (D) TSHds 3TEM
Pl
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8.  “Plans decide the future course of action and managers may not be in a position to change 1
it” Identify the limitation of planning indicated here.
(A) Planning reduces creativity
(B) Planning does not guarantee success
(C) Planning may not work in a dynamic environment
(D) Planning leads to rigidity
2o fere o wrATE o ot e € e weies g aftadd e wn fefa ® 76 @9 €1
ST IS i ST bl TEwH it :
(A) TS GHTHST FH Il T |
(B) TSI HheAdT shi ST &I L |
(C) TIferefiet STdraRer H ST s & L |
(D) TS SR i 3T & STl T |

9. In online buying the buyer drops the items selected in a . 1
(A) Shopping cart (B) Shopping box (C) Net card (D) Container
3ETET TRIGER! H TUCER =3 i T8 a&gsil &l Th Y S §1
(A) I & (B) Ty s (C) T FE (D) W
10. The term of trade "FOB’ stands for : 1
(A) Free on business (B) Free on board
(C) Fees on board (D) Fee on buying
SR T T S ol HEATI ¢ :
(A) I A fasg (B) I A\ WIS
(C) ™ T g (D) W 31 A
11. The ability of a firm to convert an asset into cash is called . 1
(A) Liquidity (B) Solvency (C) Return (D) Marketability
forefl wH =t we R ol el # RaEfdd e e e ¢ |
(A) e (B) RURNEA &Hdl  (C) YA (D) TOSFRHAI

12. X Ltd earned a profit of ¥ 15 crore, out of this the company decided to retain X 10 crore for 1
business expansion and growth. This decision will be :
(A) Investment decision (B) Financing decision

(C) Working capital decision (D) Dividend decision
T fafee A 15 I €9 &l o Afsd foran 9| 9 399 10 S T8 a9 o foear ao

faerm & fau wa fau | =g fof= 2 -

(A) Trae fof (B) ot fof=

(C) el doit fof (D) e for
13. From among the following, which is not an application of e-business ? 1

(A) Contract R & D (B) Online trading

(C) Online procurement (D) Online bidding

7§ 9 2F W - O T T

(A) SR TS € a9 (B) 3iared ¢fen

(C) e Tl (D) 3ietrea et

(=]
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14. The two parties that interact in B2C commerce are and . 1

(A) Business and Business (B) Customer and Customer
(C) Business and Customer (D) None of these
T U S St 2 o afoe i e q« B 7
(A) HIHET TAT FTHH (B) UTEsh qUT UTeeh
(C) HIEH a0l UTEh (D) =TH 9 =S &
15. The function of management which bridges the gap between where we are and where we 1
want to go :
(A) Planning (B) Organising (C) Directing (D) Staffing
et o1 % T S EH Rl § SR AT S A1Ed § ok S ok T ol R © :
(A) S (B) WS (C) Frcem (D) Fraferrhon
16. refers to contracting out some of its activities to a third party which were earlier 1
performed by the organization.
(A) BPO (B) E-Commerce (€) Outsourcing (D) E-Banking
o1 1ef e Tt fafaferd 6 gdta g S sTEY WA | T S g § Hired gry fsmfea
i ST ot |
(A) St el (B) E-hmEH (C) I &R (D) E-aifeh
17. Long-term investment decisions are also called as : 1
(A) Working Capital Decisions (B) Capital Budgeting Decisions
(C) Dividend Decision (D) Financing Decision
fE-weE fem folm . off e ©
(A)  wHreRfe st frof (B) STt astfez for
(C) wviw foi (D) forftam fof
18. Identify which of the following concept is involved in the product of T-Shirts ? 1
(A) Product (B) Price (C) Place (D) Promotion
TEE BT i T | | A Taeron -39 % 3arg § wituferd § 2
(A) SR (B) T (©€) (D) o
19. Purchasing goods from a foreign country is called : 1
(A) Import (B) Entrepot (C) Export (D) Re-Export
foreer & Aot 1wl e §
(A)  STrTq (B) gAfHafa (C) frta (D) I fafa
20. Plastic Card is the popular name for : 1
(A) Debit/Credit card (B) Cheque
(C) Digital Cash (D) Crypto currency
AR TS % forg <o =M 2
(A) Efaehfee =€ (B) <
(C) fefsiea &w (D) foeel Hem
e
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21.

22.

23.

24.

25.

26.

27.

68/ESS/1-319-B | 8

SECTION - B/@Us - @

Name any two documents used in internal trade.

riafer =AMR ° 9T foRu ST aret foreel <1 <&arersii & = <ife |

Give one word answer :

(a) Itrefers to the process of eliminating unnecessary controls and restrictions on the smooth
functioning of business enterprises.

(b) It refers to reducing the role of public sector by involving the private sector in most
activities.

Tk 91 H ST i :

(a) T 3T U F YA 9 Y 1 I o A sTEwad Fa=11 aen yfasii & geH 9 2|

(b) e 31 Tt &1 1 WitAfed ich AesIeh &5 i fHeh FH & 9 T

Identify the following in e-banking transactions :
(@) A machine using which we can withdraw money from our deposit accounts at our
convenience.

(b) A convenient way of accessing the account any time, anywhere and any number of
times.

E-dfeh -2l § 7= =) qe=m wifs
(a) T AR TSeehT TN hich BH STOT Gfaen S8R 3T @Id | &7 el dohd € |
(b) WA Tk FH o, FE ot qon fohat 9 oft Glaerers T U5 Tnfyd & & W |

State any two benefits of Digital India.

fefSea vRa @& = < TNl 1 Seei@ ity |

State any two precautions one should take while making online transactions.

ATTATZT S-S hid THT ST S o1t Tl o1 FIaefal ol Seoid shifed |

Fill in the blanks :
(@) The date on which the Board of Directors declare the dividend is called the
date.

(b) dividend is also known as bonus shares.

Rad T ’Tﬁ'q :

(a) fora fafer 1 fcem Ao envier &6t soon &3 <, fafer seamd 21
(b) A A {9 off e €

State the full form of the following :

(a) OTCEI (b) UMS

=1 =1 ol wq &S

(a) 3T 3 & £ 1 (OTCEI) (b) I THTH (UMS)

=
£
=
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28. Identify the type of preference shares : 2
(a) The preference shares which can be converted into equity shares after a specified period
of time.
(b) The preference shares in which the unpaid dividends are accumulated and carried
forward for payment in future years.

AIfeRR 3T o YRR i G869 HITAT

(a) TR yEifeR ofw fo< weh fafvea stafy & geama wwar siw # ufkafda feen st wewa 7

(b) UH YATRR 9 57 T TS AT 1 Teh{d Hhleh AN oh fIC iy & a6l H 0 o S
SIS

29. List the four components of product mix. 2
3R 9 o IR "l i e S|

30. (a) Give an example of current assets. 2

(b) Give an example of current liabilities.

(a) el IREEAfaEl 1 Tk ISR ST |

(b) =TC] SIS T Teh IR0 ST |

31. Inrelation to Terms of Trade, match the terms given in column I with their meaning given in 2

column IIL

Column I Column II

1. COD (@) This includes all charges at the port of shipment upto the
loading of goods on board the ship and export duty.

2. CIF (b) It is a type of transaction in which payment for goods is
made at the time of delivery.

3. FOB (c) Itis an expression that is used as a disclaimer against clerical
erTors.

4. E&OE (d) This includes the cost of goods, all expenses incurred for
taking the goods to the port of destination and insurance
charges.

SR ¥ Heiferd T [H & ¢ Hel o1 T 11 H T 7 37k 37ef o @ e swife )

Tary - 1 Tawy - 11

L #ia €t (COD)  [() woi oieM weuie W ATt o W@ W aaH qu1 Fafd qe @t gen
|feAfeTd 214 2 |

2. ot a1r€ s (CIF) (b) g G- o1 weh wehR & e A o i TR O e foRan ST R |

3. wwaliah (FOB)  |(©) o forushi syfeli o foreg ST woh sreafiopaon 2 |

4. {uwg 3N (E & OF) [(d) a8 wiar &) @1, Tdsd S<UTe q% Wit i o ST aem s gfed
Tft [oek wftAfera 2 |

micw
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32. Give one word for the following : 2
(a) The component of marketing that relates to channels of distribution.
(b) The ingredient of marketing mix relating to informing, persuading and influencing a
consumer to make a choice of the product to be bought.
= 1%1'Q Ueh s é’\ﬁl@ :
(a) Toaum =1 a7 wm ferer Heie faaor e 9 7 )
(b) fauur fag =1 g uT fSraest ey e I a1 TS % =99 % folt Ureeh i g1 <, 7H
T FoAIfed 9 T
33. State whether statements are true or false : 2
(a) Objectives are the end results towards which all the activities are directed.
(b) A strategy is a general statement that guides decision-making.
(c) Policies are plans which determine the sequence of any work performance.
(d) Budget is a statement of expected results expressed in numerical terms.
3ol hifee o 1 wer T 31een 3 ©
() T s T 2§ et SR e e e 2 3
(b) TOHIG T = oA & i TR A FRRT et 7
(c) fifeal & drern St € < forelt hred Frrare & ershn w1 ol et 1
(d) oSTe HeArcHs w9 § Heiferd gROTH S Sdq 1 Tk HUA ¢ |
34. Name the following : 2
(a) Debt capital or borrowed capital of the company.
(b)  Shares which carry preferential rights in respect of dividend and return of capital.
=1 o 7w <ifse
(a) HFI T O STYET IUR Yeit
(b) A YRR 91 ¢ e PTa aen Ysit Araet hi s g gyt 2 |
35. Which type of channel of distribution will be suitable in each of the following cases ? 2
(a) For a perishable product.
(b)  For durable products like Fridge.
e wfterfoll # e # siF w1 foaor Areaw 3ferd g ?
(a) Tormewiter Scare & ferq)
(b) TiRst S8 fees 3ag & farg |
(=]
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SECTION - C/@Us - T

36. Explain any two features of a Joint Stock Company. 2
Teh G YTl HEt bt foheel o1 fordioamati =61 wvemew |

37. Differentiate between Advertising and sales promotion on the basis of : 2
(a) Objectives (b) Nature
71 & R R fogma’ qen ‘fosht o=’ | o1 Sifu .
(a) A (b) wFfd
38. (a) Name the process of finding and attracting suitable applicants for employment. 2
(b) List the two sources of the process as named in (a) above.
(a) USTIR & ToTT IUFaRT STTeIGeh! o U ST AT 38 STIh{Hd L i FfshaT b1 19 ST |
(b) ST (a) | < T8 A Ufehan % <1 Hal st g S|
OR / 3teen
(@) Name the process of assignment of job to the selected candidate.
(b) Name the process of introducing new employees to the organization.
(a) = foru T IHficER 1 W 3Teie gfshan &1 94 ST
(b) ETSH H T HH=IRE % qR=" w1 ik 1 7MW AT
39. State any two objectives of WTO. 2
' SIS AR e’ (WTO) & TRl 3 Sexdl o1 Seei@ it |

OR / 3teer
“WTO has been playing an important role in facilitating and promoting international trade”.
State any two Roles of WTO in the light of this statement.

' ST SATIR WIS ST SATIR skl FRIHAT hL T 3H 9@ o H Heequl YfHert 1 @

B1' 39 YA & AR H, HREI AR TS i gl QA YfHR13A 1 Seeid@ Hitad |

40. Differentiate between a Bill of Exchange and Promissory Note. 2
“fafma o=’ o “ufisn o= H e ifste

41. Describe the role of SIDBI and SISI in providing support to small business in India. 2
IRA § o SHTE™ i FeTIdl Y& A & feTu IR o 2 fasm o (Hrest) oy e g
M’ (TH AT TH A1) i ekt o1 0 whiTog |

OR / 3teran
Describe the role of NSIC and NABARD in providing support to small business in India.
IRd & oY U I eIl U 3 B ‘T o SA e’ (T T o1 ©Y) IR ‘Fare’ i

oftreRT T 90 RIS

=
£
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42. Amit is working in a plastic fabrication industry. He is the Human Resources manager and
has to recruit 15 salesmen for the company. After determining the qualification and experience
required for various jobs involved, he is in search for suitable candidates. For this purpose he
may use various sources from outside the organization. Explain any three such sources.

3 U wnfes faior 32 # kg 1 98 AFd S9iEE YdYe § adl 39 R & fag
15 Toshaerdtadi i wdl et & 1 fafy= st & fau eevaes dvaar wd st 1 fofa o & 9=
I8 ST IHICAR! i WIS H T 39 3T & foIU a8 G & o ¥ fafy= Eidl 1 3w
a1 1 T I 7 S 0 |

OR / 37eran

Sumit, the Human Resources manager of ST Ltd- an Electronics company has received a
number of applicants for the post of production manager. From among the various
applications he has to choose only one. Name the process which Sumit would use to choose

the most suitable candidate and explain the first two steps in the process.

T STk ol TH 31 fafiee & AHa damem yeive giHd o1 Sces Ja9eh % U o folt g
e | o7eed U gu | fafy= stoeet § § 38 had Tk 1 =99 A ¢ | 39 Ufshan w1 AW i
e == gfta gaftm STigar & 999 & folt ST 62 Tehal © a1 9 Ufehan & Jerm & =)0
HHEART

43. Which promotion mix is being referred to in the following statements ? 3
(a) Itis a paid form of non-personal communication through an identified sponsor.
(b) It is a short-term and temporary incentive to purchase or induce trials of new goods.

(c) Itis a direct presentation of the product to the consumers or prospective buyers.

e el B forg Taeia fag 1 Seora fovan T ©2

(a) 9% U UgEM foRT T YRiSTeh o HIEH & HYTOT 1 I fRar T R-dafades TR )
(b) % T HISA ] T T9a W0 o foau I s o1 ereehifer qen STeemdt Hiedre ¥ |
() I% U T Y I A1 Wi Shal bl Yeaerd: SIS WA il § |

44. Explain any three roles played by clearing agent in external trade. 3
TRl AR H T A8 Tt Tsi=e g1 F9TE ST aTeft Sl i fHeh! FHemsy |
OR / 3tear
Explain any three documents used in External Trade.

TR AR § YA fhu ST 91t hig i1 g 9HeEsT |

45. Give any three benefits of advertising to Manufactures. 3
Scqreehi o T formres o =i i @y <ifer |
OR / 3igar
Give any three benefits of advertising to Customers.

ekl o foru foqmem & =g o oy SifSu

=
£
=
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46. Explain the relationship between planning and controlling. 3

‘e’ qen  frE=r’ § HelY ol THeET |

47. Explain any three points of importance of external trade to the Indian Economy. 3
ARG STefeeree o T dmel AR o 78 o hig o fog HHEST |
OR / et
Explain the following documents used in external trade.
(a) Bill of Lading, (b)  Shipping order and (c)  Certificate of Origin
Rl AR 8 YART fohq ST et e oSt skt aHerme
(a) <i_H fora (b)  STRISH ST () STITH YHIOTTS

48. Rotrex Ltd. has hired 2000 buses for the different routes for the passengers of metropolitan 5
city. In order to fill vacancies, it advertised in the newspaper and large number of applicants
applied for the same. The company has to now undertake the process of selection to identify
and select the best. Explain the first five steps involved in the process.

TR & Al & fore deam fafaes 3 fafvs amf 3 ferg 2000 99 fF@ Wt 81 921 &l w3 &
fore s TueR T o famree feon aen suek fore oSl G | oTegehl | o6 fohar | st i 3|
TAIS T FE F AU T vism o e § 1 o9 ik ® wfmfed yem e =1 9wese |

OR / 1<l

Naresh recently completed his M.B.A. from one of the Indian Institutes of Management in
Human Resource Management. He has been appointed as Human Resource Manager in a
Truck Manufacturing Company. The company has 1,500 employees and has an expansion
plan in hand that may require additional 500 persons for various types of jobs. Naresh has
been given the complete charge of the company’s Human Resource Department. List out
any 5 specialised activities that Naresh is supposed to perform as the Human Resource Manager

of the company.

T A TA & H T IRA Y E I | AEE EieE oA § TR T H T SHH Th o
ST P H WG GHIE Ysiee k€9 § g fRa e ¥ 1wt 6 U 1500 FHER € a9
ST Ueh foar A © foren forw fafyu= et o ferw 500 Afafiem <l &) Sterserehar 81 Tehd! ¢ |
YT I, HEA F G TE1EA a1 g e wiw wn €| W ol e fafafee o et dfew
o8 K91 1 T h TG GHIEA Yoiesh & €9 § o0 s i STavaehdl 7 Hehd ¢ |

]
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49. A company requires rupees two crore for inventory, payment of wages, maintaining bank 5
balance etc.
(a) Explain which financial market the company may approach and why ?
(b) Explain any four instruments to raise finance in that market.

Teh HPIAT Sl ST, ASIGH AN T Sieh I ST @A 3G o feTT 1 e T i STwehal § |
(a) THEST foh FHFOAT 1 S § foxita IR # S =feq aen =1 2
(b) TH ISR T I9AN fohT M et fordl =R 99l 1 3eei@ whifsa |

OR / 3raT
Differentiate between primary market and secondary market on the basis of any five points.
ferl uTa forgetl & STUR R Wi =R qen fadiaes aeR o o=R i |

50. Explain any five forms in which small business can operate in India. 5

T SIS U9 ThR YA 58 YR § Bie STerErd Toer i Tehd ¢ |

51. What is a Multi National Corporation ? Explain any four features of MNC. 5
Teh g~ g T o1 Bieft €27 Wk aIg-Teeig o i h1g 9R fagivand a9emsT )
OR / et

What is Self employment ? State any four government institutions that provide support to
small business.

W-USR 1§ ? T Thdl IR TR Heeli o Sooi FifST S 75 STa8m™ hl Ferdl Ua il
gl

-00o0-
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OLD SYLLABUS /YT UTddehH

BUSINESS STUDIES
HTeETaeh AT
(319)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 9 ] [ gutiek : 100

Note :

()

il

(
(iii)
(

~—"

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of :
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and write the
most appropriate option out of the four options given in each of these questions.
(v)  Section - B consists of :
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 carry 2 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.
(vi) Section - C consists of :
(@) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
() Q.No. 48 to 51 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
ﬁé’?‘l‘ :
(i) =9 IA-TF H P 51 T T
(i) |t g e B
(iii) I U A TR 3k feu M )
(iv) @Ug -k H e € :
T T 1 9 20 T TgIashedid YR o YA €, Sl oI 1 37 &I &1 T U9 § s H fqu 70 =R
foshedl § & a8 3uga foshe g &R faaw)
(v) W@US-WH b ¥ :
I HE& 21 ¥ 35 0 TS T T 1 YT HE&A 21 ¥ 35 0 TS Y9I 2 3Rl w1 E (S SUUT F Wy
Y& 1 3i%) | I I | I T8 o1 FTER T o I Qi |
(vi) @Ug -7 H e €
(a) IS TEAT 36 W 41 Toh 2Afery ITIT YR & U9 ¥, T o 2 31oh § IR I ! HH1 30 & 50 5
2l
(b) T T 42 W 47 T T IANT THR & T &, T&h o 3 37k ¢ 31X ST T HA1 50 | 80 15 ¥
(c) U A 48 § 51 T <6 I YR & U €, T & 5 31k ¢ IR W ! HHA1 80 | 120 IR
2l
mice
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Note/ﬁlﬁ'&T :

(I) Answers of all questions are to be given in the Answer-Book given to you.
Tt Tl o IR AR & T STk | 2 ford |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

TG YI-UF I YA & fau 15 e o1 9m foon o §1 wsA-u o1 foawer Sruer # 02:15 99 fohan
M@ e 02:15 I 9 02:30 I q% B kA YE-TF HI T AR TY AAY & IRE A
SRR W FE W &l fea@i |

SECTION - A/Q@UE - ©h

1.  Partnership between public sector and private sector is called : 1
(A) Joint Venture (B) Joint Stock Company
(C) Joint Partnership (D) Public Private Partnership
HresIfeh & T fsft & sht WPeH Feawd! @ :
(A) GIH ITHA (B) EHI YSil T
(C) G HRRRI (D) WS il HEeR
2. The official signature of a Joint Stock Company is its : 1
(A) Common Seal (B) Name (C) Address (D) Place of Business
forelt ot o eTfureRTiien BEd1eR 36k BRI B ¢ ¢
(A) FEFT g (B) ™ (C) Ta (D) TR HT TH
3. A company controlled by another company, it is called as of the controlling 1
company.
(A) Holding Company (B) Subsidiary Company
(C) Statutory Company (D) Both (A) and (B)

T FHEAT R gEd wrE grt e @ S ® 9@ g e S arelt e
ST SHET |

(A) = et (B) W HEHI
(C) wfaenfr FHea! (D) (A) @ (B) I
4.  Registration card of the employment exchange has to be renewed after how many years ? 1
(A) One (B) Two (C) Three (D) Four
TSR e o USHehol € 1 Fell1erLor feha areif o e fepan S @ 2
(A) T (B) @ (C) (D) =R
5.  Which of the following is the closing paragraph of the covering letter accompained with the 1
bio-data ?
(A) About the organisation (B) Request for future action

(C) Suitability of your candidature (D) Signature of the candidate
freafafad § 9 o arE-221 % WY FHafn Al H FAfET T § 2

(A) ETed ¥ Hefud (B) wfos RaTE i W
(C) ATIeh! IHIGEART hi STRIAT (D) SHISER I BEIIET

=
£
=
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6.  Which of the following is the most common print medium for advertisements of job vacancies ? 1

(A) Newspapers (B) Magazines (C) Leaflets (D) Both (B) and (C)
= # @ &R W g Rl o1 go8 qm fie @ 72
(A) FHER 9 (B) PRt (C) wIH (D) (B) @ (C) <
7.  The ability to persuade and motivate others to work in a desired way for achieving the goals 1
is called :
(A) Motivation (B) Communication (C) Supervision (D) Leadership

o8 Fradl ek g @&l st Wit o foTT SER1 ohl Tk fomie ehR 9 h1éd oA <k faw &1faRa feren
T €, hEeTd €

(A)  SfETom (B) EHT (C) e (D) =
8.  Basic needs of people like the need for food, clothing and shelter are known as : 1
(A) Social needs (B) Self actualisations needs
(C) Psychological needs (D) Esteem need
T ot SR STEYIHATT, S WHT, FHIST T Tk hi SEAIIHANT FHeelld ¢ :
(A) HHITSTH &I i SATTHh (B) @& GJfte 3Teraehdl
(C) TS SATTIHAL (D) 3TIST TS FHH <l SATETeFehl
9.  One who usually uses the product or service is called : 1
(A) Buyer (B) Customer (C) Consumer (D) Both (B) and (C)
o8 S U TEgR STt Yaned i arkdd H SUHNT T €, Hedl © ;
(A) sl (B) ek (C) SusrerT (D) (B) @er (C) &l
10. This concept states that consumer needs and wants must be considered while producing a 1
product.
(A) Production concept (B) Product concept
(C) Selling concept (D) Marketing concept

T AN Ieoid ! © foh fopddl off I0UG T ITUGH hid THA ST i STewharst T
To1RT I &I H AT =Afey

(A) SCAET STAHRM (B) UG STALROM
(C) forsha starymon (D) foquM sraemon
11. It is an organisational function and set of processes for Creating, Communicating and 1

delivering Value to Customers and for managing customer relationships in ways that benefit
the organisation and its stakeholders.

(A) Buying (B) Selling (C) Delivering (D) Marketing
Ig Weh HISAIcH a3 f7ora yomedt & ST Utees faior, ST qerm Utees sl He<d <dl § 991 Teeh-
Helel sl TH) raferd il § fogd deen o 39eh qurerdt 1 9o 2id & |

(A) Ha (B) fasra (C) foaam (D) faquM
PR
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12. Itis aninstrument in writing containing an unconditional order, signed by the maker, directing 1
a certain person to pay a certain sum of money only to or to the order of a certain person, or
to the bearer of the instrument.
(A) Promissory Note (B) Treasury Bill
(©) Bill of Exchange (D) Commercial Paper

IE YIS S AT o SRR Ueh U ¥ -fed feafaa st € S fohedt @ =afe w1 9 fadwn
T ¢ o yor H foet we ffvea am-uftn &1 ram, fordt ffyea safaq &1 =1 s stew ue fonedt
371 SAfH Rl 37 TUS A&, hl e |

(A) T T (B) =it foret
(C) fafwa o= (D) @I a5t
13. Incentives that are directly related to money are called : 1
(A) Financial incentives (B) Monetary incentives
(C) Both (A) and (B) (D) Non-Financial incentives
UE Jomd S Yeel ®9 9 41 9 Heifd §, el ©
(A) foxira Ixomd (B) Hifgeh Jomd
(C) (A) e (B) T (D) R-fa<ira IRomd
14. Which of the following is the basic monetary incentive ? 1
(A) Pay and Allowances (B) Bonus
(€) Commission (D) Retirement Benefits
= § 9 =9 o euRea I § 2
(A) o TE 9 (B) &M ™
(C) hHTH (D) ST TRV TH
15. It refers to the whole network of financial instutions dealing in short-term funds, which 1
provides an outlet to lenders and a source of supply for such funds to borrowers :
(A) Capital Market (B) Money Market
(C) Stock Exchange (D) Secondary Market

ST Ty faiie Heieli sl 36 I8 el 9§ © il STeIehIelA hiul o oiiad i Uishdl § Held B,
Y B IE AT FOEIATA! Bl hIT TG HL UG 0T YTehdiST hl ST YT hi ol &l TS hLdl
3.

(A) T TS (B) TR A

(C) ¥R AR (D) fadroe s
16. The market in which buyers and sellers interact with each other using internet is called : 1

(A) Local Market (B) International Market

(C) Virtual Market (D) National Market

I ISR 15k shal qe foshdl T TE & $etie & HIeaq § Fa<id i ¢, HEaw §

(A) T FER (B) ST IR

(G EECENSIEEICIS IR (D) U 9N

mice
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17. The marketing function under which activities like advertising, personal selling, publicity =~ 1
etc. are performed is called :

(A) Branding (B) Promotion of the product
(C) Distribution (D) Both (A) and (C)
faqom =1 a8 = fSae stla fagmom, safeaa fasea, y=r enfe wiafafeat = froaea fevan s &,
FHEA ¢ :
(A) st (B) 391G YeldH
(C) e (D) (A) T (C) &I
18. One who actually uses the product or service is called : 1
(A) Buyer (B) Customer (C) Marketer (D) Consumer
ST ST H SCIE] Ter HaAs! 1 ST HIA €, FEA ©
(A) kel (B) TeH (C) feuourtera (D) U

19. A document prepared by the exporter or the forwarding agent on the basis of which the 1
custom authority calculates the duty to be paid by the exporter is called :

(A) Documentary Bill (B) Shipping Bill

(C) Shipping Order (D) Bill of Lading

T Yo 58 fafdes 2196 A1 demere TS s=ar § a2 e TR W heeq AR |
Yok Tuifa #d €, Fearman ¢

(A) TEITEST fore (B) SerSit foret
(C) T SR (D) Terst fare
20. When buying and selling of goods take place across the national boundaries of different 1

countries, it is called :

(A) Import trade (B) Export trade (C) Entrepot trade (D) External trade
T el 1 Fwa-fosRa fafim <l & T diell o R g ©, @ 54 e ¢
(A) 3T AR (B) fraia =mr (C) YAMA@=MR (D) oI MR

SECTION - B/@Us - @

21. State whether the following statements are true or false : 1x2=2
(a) Stock exchange is a term commonly used for primary market.
(b)  Stock exchange is an organised market.

Seerd HIfS o f71 e e s1eren 3t €
(a) PR ISR Teh THT M € S WIHRO: Wi SR % §9 § 9 el € |
(b) IPR ISR Teh Hafeerd aeiR |

=
£
=
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22. Give a specific term : 1x2=2
(a) Communication made between people through facial expression.
(b) Communication based on basis of relationships made by management.

@FWWW:
(a) =X P e GRI HY |
(b) YeY GRI €AY Fraell & STER I Yo |

23. Fill in the blanks. 1x2=2
(a) results when receiver and sender of message do not trust each other.
(b)  The fear of losing authority over subordinates is called barrier to effective
communication.
Raa = ’Tﬁ'q :
(a) TS F Uikl Qi SHeR! HST STell Ueh T WX foream™ =181 ah¥d ot S&eht giomd
BT |
(b)  SAefRl W AIHR F FH I AT e FUS HYo Y FHEAT ¢ |
24. Give a specific term : 1x2=2

(a) These barriers take place when the sender and the receiver of the message interpret the
words, sentences, symbols etc, differently.
(b)  This mode of communication may be oral or written.

WWW:
(a) I AT & I Bl & TeAfeh T IS o Te¥ TH a1l Al o i 958 1 1
eiteh IS H HHgH i S 31 WY |
(b) YW F T TS Hifgew T Al & ekl § |
25. Fill in the blanks : 1x2=2
(a) data should contain factual details.

(b) When applying for a job, the
appropriate covering letter.

data should be accompained with an

e T 9w

(@ __ =Y afesh faexe gF =

(b) USFIR o forg g shed 994 BT & 1Y Teh 3Mad hafli] oied G| gF1 =gt |

26. Fill in the blanks : 1x2=2

(a) is the process of telling people what to do and seeing that they do it in the
best possible manner.

(b) refers to the process by which a person transmits information to another
person.

e T it

(a) T ufshen ® 9% g0 @Ml ol I Farn S ® foR 3% R R ' qOn 9%
gFfeea & o 8 9 FaIss a9 |

(b) %1 Heof 39 Uik ¥ T f5h g1 T =Afe S Al il a1 9971 B

]
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27. Give a specific term : 1x2=2
(a) Privately operated organisations whose main function is to introduce the job seekers to
their prospective employers.
(b)  The offices set up by the government for bringing together job seekers and job providers.

ferferee <M difS
(a) Tt ®9 9 Henfera weifaar fe g e ISR aeqaret o1 Sk deifaa feiemst &

i T Ea B
(b) TIHR R TNfUd Hafer fSeh gRI USHIR i @IS i aTell a1 SR IS i a1ell ol Th
T AT SR |
28. Identify the characteristic of a Joint Stock Company. 1x2=2

(a) The day-to-day management of the company is done by the elected representatives of
the shareholders called board of directors.

(b) The company enjoys continuous existence.

TR STt hETHT T fa9rareti st wgeH Sifs |

(a) HEA 1 e YeEA SiwERenl % 97 gu ufafifl gr foen s B, 9 fRees wvea
FEd S|

(b)  HFIA T ST TRt B

29. State the full form of the following : 1x2=2
(a) BPO
(b) KPO
= &1 faeqa &9 ST
(a) St el
(b) k3T
30. Name the constituents of depository system. 2

femferdt yomeht & =reahi & ™ Sifee |

31. Fill in the blanks : 1x2=2
(a) Group of buyers for a particular product or service is called a
(b) Person who organises the various marketing activities is called a

e wom Wi

(a) T fafere S s1eren dan & feg shaeti +1 9gE FHEEA T |

(b) o =AfF st faf= fagqum nfafafer = e g, AT B |
32. (a) List any two money market instruments. 1x2=2

(b) Give the full form of SEBL

(a) |1 oSR & fRl <1 gosl okt =it SifSw )

(b) SEBI &I fa&R hifsrT |

e
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33. Give one word answer : 1x2=2

(@) A document prepared by the forwarding agent and sent to the exporter indicating that
all the formalities for export of goods have been completed and goods have been shiped.

(b) The invoice prepared by the exporter and sent to the importer after the shipment of
good.

Teh 312 &1 ST T ¢
(a) TToTER TS gRT TAR e o waot den fafae st S T yod S gee 3 § R Ae &
frafa & defud 9t srefemEt gul T ot TE 7 991 H1d 1 Sers R ASH 8 T B

(b) T o SRSl W QA % q¥ard fafdes g1 qaR foham T e STramdeh sl SST T sfisieh |

34. Give one word answer : 1x2=2

(a)  Under this research information is gathered, recorded and facts are analysed for arriving
at rational decisions and developing suitable marketing strategies.
(b)  This concept of marketing states that social welfare should be dealt by business firms.

Teh 365 o ST ST

(a) 9 WY F SFAd GEAT ThHAA I S 8, S bl St § qo 3faa Fofa R age & ferg qen
U foqum Trifaet 1 fasm & & fore qet o1 faerson faman S 21

(b) TaUUM F I8 AIURON oot Hdl § for Sa@nfaes wal gR1 GmIfSe Heam w e § WA
e |

35. Analyse and give answer : 1x2=2
(a) A company that bears the loss or damage of the goods right from the godown of the
exporter to the godown of the importer.
(b) These are organisations involved in export promotion activities.

fargeryur Hifs qen W e
(a) 9 HEA S HIA ht QI T & hl Fafqeh & Mem ¥ STardeh o e qeh i SiEd 33Tl
gl

(b)y 3 T frafa daeda nfafafudt # wfmfed ea ¥

SECTION - C/@Ug - T

36. What is meant by Social responsibility of business ? 2
S o | <ol =1 11 37 € 2
37. How do judicial decisions constitute as part of legal environment ? 2
=k ot 3% fafies wafer &1 i o 2|
OR / 3A<ar

State any two responsibilities of business towards the shareholders or owners.

I ! AU 1 Wl & gfa fr=i 31 ifadl o1 ool ity |

38. Explain any two merits of government companies. 2

T 1 o fohegl < el <hl JHesy |

=
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39. Identify and state the meaning of the process that is the ultimate outcome of planned 2
delegation.

<9 Wfshal i TEw shifery qen e1ef fere St e sferon 1 et wiomm 2
OR / 3teran

Is planning probabilistic ? Explain.

1 e W © 2 ||

40. Why were public enterprises started ? Explain. 2
HreSI-eh 389 Fii IE fh T ? FHSET |
OR / 3teran
Differentiate between ‘Private Sector Enterprise’s and ‘Public Sector Enterprises’ on the
following basis :
(a) Capital and
(b) Area of operation
199 & YR W STt 851 % STET 9 reSi-eh &5 o STH B TR ST |

(a) St

(b) e &

41. What is meant by capital structure of a company ? 2
T BT ST T 6T T 31 7 2

42. Briefly explain the ‘right to be informed” as provided under the Consumer Protection Act. 3

YT SR&T0T HATUFTIH o 1= 9SM forT T o= 9 o TR hl HHAET |

43. What is meant by ‘Consumer Protection” ? 3
S TRT EaTOr’ R 1Y 2

44. Besides the classification of products on the bases of “use” and “tangibility’, there is another 3
basis on which products can be classified. Name the bases and explain the types of products
on this bases.

‘I9ATT’ AT T’ ok AT SCIGT o SFTTeRLUl ol Teh 3T S9N ot § | $9 STER 1 A1 SITSIC ae
THh SR T 3TST o J71 ol THEEY |
OR / 31eran

Besides ‘cost’ and “demand’ there are three other factors that affect the pricing decision.
Briefly explain the factors.

‘R’ qen i S SAfaRed T T %R B © S Hed ERe w1 e wd €1 37 e

! 989 § 9HAR |
45. Briefly explain : 3
(a) Policy and (b) Rules as type of plans
T H Sy ;
(a) it den (b) T7I9 1 A5 6 YR &k €9 H
e
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46.

47.

48.

49.

50.

51.

Briefly explain any three objectives of management.
Feitl o fehwel o Sewal ol Ward o WHEET |
OR / 3teran
Briefly describe any three characteristics of principles of management.

gsi o Tagidl i ol 1A foioansti =61 §&q § oo IS

Explain briefly any three characteristics of coordination.

U= ! fohgl a9 foroaret = 9899 § gu=msu |

State any five main objectives of ‘Financial Planning’.

“famirar e’ & foheel O e Sewdl o1 Sooid hifeTy |

What is meant by delegation ? Briefly explain its elements.
SO 1 A 1Y T2 T HIH| hl WA H FHAET |

OR / 3teran
Briefly explain any five points of importance of planning.

ST & Hed o Tl ar fargail =1 geg & avemsT )

Briefly explain the characteristics of an appropriate capital structure.

T Sfad Ot weE t farestl wh He H wmeme

Explain “price” and ‘promotion’ as components of marketing mix.

‘e’ qen ' ye’ i fauue g o wewl % w9 | aHemE |

-000-

68/ESS/1-319-B | 24

=
£
=



